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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1126 19.1 5.8 35 54.6 99.9
2 1126 18 9.3 36 50 99.9
3 1124 15.7 6.1 29 54.3 99.7
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Line

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Oak Square Estate	 Fax: (0267) 215933

	 Carmarthen
SA31 0FJ

Date:  31 May 2014

STATEMENT OF ACCOUNT

	 To:

The Ink Spot
Friary Way

	 Aberystwyth
SY23 3AQ
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	 (e)	 The following Statement of Account was received by The Ink Spot from Ink Inc. at the end 
of May 2014.

© WJEC CBAC Ltd.

Date Details Ref No. Sales
£

Payments/Credit
Notes

£
Balance

£

4 May Sales Invoice 07452 550.80 550.80

11 May Sales Invoice 08396 731.00 1 281.80

16 May Credit Note CR 741 89.00 1 370.80

24 May Sales Invoice 08755 322.00 1 692.80

30 May Cheque 6541732 839.60 853.20

31 May 853.20
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© WJEC CBAC Ltd.

		 There is an error on the Statement of Account. Identify the error and state the corrected 
balance as at 31 May 2014.

(i)	 Error:	 [1]

(ii)	 Corrected Balance as at 31 May 2014: . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  	[1]

(iii)	 Explain one consequence of this error.	 [2]



e.



·---------
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There is an error on the Statement of Account. Identify the error and state the corrected 
balance as at 31 May 2014. 

(i) Error: [1] 

.. .. 1~--~- .\~ ..... \) .. 0 ...... ~ \~ e.Q;.~\~0'(\0 
······ ····· ··· ··············· ··· ·· ···· ··· ········ ···· ····x· 

·····-~·-···· -~~-S. .......... ~---············ · ··· · ······················· · ····· · ··························· · · ·· ·· · · ······················ · 
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(ii) Corrected Balance as at 31 May 2014: .... 0 .. 4.-..... : .. 9..~ .. : ..... ?:.9..\~---···· ·· · ··· · · ··· · ··· f!1l 0 
(iii) Explain one consequence of this error. [2] 

... n..~ .... ·--~-<f.i.\r ......... j .... ~ ....... _§')1?.pl.\~ ....... ~ .... :~~ .. . 
i>J.\~-- -··· ··-~· -·········-~ · -··· ·· -~.t..\l\.~-- - ········~ · -······· · ·····--······ ·· · · · · ·X. .. 
.. ....... .... ... .. ... ....... . ........ ....... ... ... ... ........ ............ .. ..... .... ......................... ... ....... ............... .. ..... .. ........................ ..... . 

.. .................. .... ..... ... ................. .. .................. .... .............. ... ..... ............. ..... ... ..... . .... .................................. .................. . 

© WJEC CBAC Ltd. (4702-01) Turn over. 

e.

Sticky Note
The first two parts of the response seem to be more akin to an Invoice.


Sticky Note
This candidate showed no knowledge of the way that Balances are calculated in a Statement of Account nor of the purpose of Statements of Account.


Sticky Note
Generally, candidates did not know the purpose of a Statement of Account nor how to calculate the Balance.
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There is ari error on the Statement of Account. Identify the error and state the corrected 
balance as at 31 May 2014. 

(i) Error: [1] 

.\ .... ~ .. 9 .. 1 . .-~ . .9. = .. 'fS3.:~C?. .. ~ ..... ~-~-9 ... .-. 9. .. 9. ..... .. N.9.t ............... ... .............. x {7s 2. .. ..... .... 0. .... 0.~ ..... ] ................................................ .................................................................................................... . 
(ii) Corrected Balance as at 31 May 2014: .. .... ... 2 .. 3 .. ~ .. :.6..0 .... ......... ...... ... ............. .. ....... [1] 

(iii) Explain one consequence of this error. [2] 

... t\ ... CD..(1.>. .. (.c:v~.~- -~-~--Q~ .. . .t~ .. ~.>.. ... f!.'r. .. t> .. c. ..... i .. s ...... rs.9.:t .......... . 
...... ~.0. ~ ... ~C!'-J ..... ~ .. ~ ... J.9..~ ... hc;;!'J..S:: ... t.:.'.C?..(~ ... ~."? .~ ... .+..~ .. 
.... J.o.~ ... ~-~\A.~.~---~.9 ... >..o .. :J...c.?~ .. £r>...d: ... LJ/! ... $C~.&'2J. ... ;.t 

..... ...... ... .... ....... ... ......... ......................................... ... ... ... ... .... .. ... .. ....... ........ ... .......... .. .. ............ ... ... ..... ... .............. .. ... ........ .. .. 

© WJ EC CBAC ltd . (4702-01) Turn over. 
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Sticky Note
The candidate was given a mark for recognising that the actual Balance (using their own calculation of the corrected Balance) was less than it should be and that this could lead to the business assuming they had more money than they actually did.


Sticky Note
This candidate had a rudimentary knowledge of how to calculate the Balance but did not know that Credit Notes should be deducted from the Balance.


Sticky Note
Generally, candidates did not know the purpose of a Statement of Account nor how to calculate the Balance.
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There is an error on the Statement of Account. Identify the error and state the corrected 
balance as at 31 May 2014. 

(i) Error: [1] 

.... ~T.ne ..... CL.ed\.L ..... oo.t.e ........ mo.ne.y ......... u..DS ........... no .. c ....... ~ .. 

.......... r£ .. &u.nde.d ... :• ................................................................................................................................ . 
(ii) Corrected Balance as at 31 May 2014: ...... ~ ... 2. .. 3..t) .. 3 .. ~ ... 8.0 ............... ..... ;.:x_ [1] 

(iii) Explain one consequence of this error. [2] 

1\ J ... ~1"CO .... muCXJ ... O.c .. .. :~OO ...... \\.tbB ...... CO.u.J..O\ ....... b.e ...... ~ ...... . 
\ so cx1e se.WLC OJ\d blltjec LOOL.LI.C21 V\Ot 

...... K.f.\O.L.U ...... Y10.W ........ lYLU..CY\ ...... \.S ...... ... Le&t .. ... t.O ...... b .e .................. . . 
t X 

.... poid ...... btj·······Lhe .......... n.Llt:J.ec ...................... .. .............. ........................ ...... ............... . 

' I 

© WJEC CBAC Ltd . (4702-01 ) Turn over. 
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Sticky Note
A mark was not awarded for stating that “too much or too little” could be paid as it was not specific   enough. The correct response would be one or the other.


Sticky Note
This candidate was given a mark for recognising that the Credit Note was not deducted from the Balance but added.  However, the candidate was not able to calculate the Corrected Balance.


Sticky Note
Generally, candidates did not know the purpose of a Statement of Account nor how to calculate the Balance.
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	 (g)	 Ink Inc. accepts payment by cheque, cash or debit card. Consider an advantage and a 
disadvantage to Ink Inc. of each of these methods of payment.	 [6]

© WJEC CBAC Ltd.
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(g) /Paccepts payment by cheque, cash or debit card. Consider an advantage and a Ex~~: 
~ntage to Ink Inc. of each of these methods of payment. [6] 

.... C.'f.0. .. \t.~ ....... .\~ ...... ~.~ ...... tt\9.A\ .... ~ .... ~c\ ...... ~ ........ . 
!DQ ......... ~\g~ . ./.. .... h~ ...... ~~ ..... ~t ...... ~ .... ~ ............. . 
.. 9'0\.\ .. ~ ....... ~~.fu ...... U7.: ... fu.S\\. ....... J~ ....... ill~ .. ~ ...... ~I·oo .... . 
:tfr\Q_ ........ hQX\~7····h~ ...... lk ..... \.~ ....... bs.t. .... e.Gs.\.\~ .... %cl ...... . 
.. ~ ........ b~ ......... 8.W.~ ........ ~\.~\ ..... nP ...... ~ .. e.».i~~····~······· 
... Whe§.e. ........ ~.t ...... IS. . .-...... lQ.\.lli ...... Q.. ......... ~t.~ ....... ~ ..... ~.~········ 
.cOJ.\ ........... f\:cD.:: ......... ~.~ .......... ~~.~.~~ ...... ~ .......... . 

• ~ ••••••••• ~.~:~~c0~r;~~~~ • 
.. ocoo.c ........ o.Dl\..~ .. ~ .... f1 ....... ~\~oJ1V.~~ ....... ~ ..... ~ .. -.~ ... . 
. ~ ... JR--·· .. : ... ~Oll .... .. [£)~~····. ~ ...... \.v..~ ..... u~ .. 
~~~~~~t~tZ'~ e:fc;a~t ··· 

© WJEC CBAC Ltd. (4702-01) 

Sticky Note
The candidate scored no marks because he did not answer the question asked.  The candidate response is in the wrong context.  The question specifies advantages and disadvantages to Ink Inc, the business receiving the money. The response given is wholly from the perspective of the paying the money.


Sticky Note
A number of candidate responses did not answer the question set.






Sticky Note
Once again, although the candidate demonstrates some knowledge of the methods of payment, the response is not from the perspective of the seller.


Sticky Note
A number of candidate responses did not answer the question set.
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(g) !Ink Inc. accepts payment by cheque, cash or debit card. Consider an advantage and a 
1sa vantage to Ink Inc. of each of these methods of payment. [6] 

.A ... ~u..e .... \S ..... a. ... Ccc.u.rne.nt .... Wn\.Ch .... \:S ... a... ... ~cm .... ce- ... :(YC{\~ . 

. Whl.Cb .... ca..n .... \:J.e .... ~o.ld. .... .\:n\:D ...... o...not.ne..c ..... \o.us1o.e-<SS~ .... \:;).o...C\K. 

.CCcoLlf.\t-.. ~ ... w-:\ ..... o.dvCUltO[j.e ..... .o~---·O. .... ().\~\J.Q.. ..... \.~ .... :l:-b.CLL .... \1.. ..... . 
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... t.cu'\es ...... -s.ev.e.t..QL ..... c\.O.tjs ..... t:;o .... QiEBr .... s.a .... \; ..... b.he .... 9l···~er 

.hrows ... :tn~ ...... Cb.n-L ... hclv.e .... mo~ .... b.L.Lt. .... w.\.\.l ... \.n .. XQ ... ct-e..u.:> ...... . 

. dCltj;s .... tb.~ .... ni1Q.w ... J.t ... wi\\ .... o·e .... .cAew.ed ..... \:tj .... t11e.n .... How.eve.c 

.o-... dtSoc:tV~e ..... \!S .. ttoL .... cb.ftj;WJ.,s ..... ose .... not ... lmme::l . 

. fO.tjm.e.n.c: ..... Co:sh ..... \.S ... .o .... ~.o.p.e.c .. *"orrn .... o&-···rno~ .... tJ.o.u. .... co..n .. 

.. ca.r.rcJ···oso.UJ\£1, .. Qr\ ....... oo.vru.1txtJe ..... l.~ .... :t.hO.t ....... \.t ..... \S ..... ~~-, 

... :ea.~s--·CAd ........ \m.m.ed . .tOl:a. ..... hO.wev.Qr. ..... bu.o.\nes.s .... .u.s.~na .. coc 

.... CGL.n ..... .o.~ .... dUo..L ..... w .. \.tn ...... c:.u.swmer..(}!~ .. CQ:n.t;;tn~o. 

20 

For continuation only . 

.... ()Ut()\:..\01\ ........ J.b ....... .A ..... d:ebYL ..... COS0 ...... \.~ ...... 0.. ..... 0\L\B.:t\C ... CQJC\ ............ . 
·--~~--.o~ ..... ~roef\:t ..... \:)\C)Jt. .... c\Oes ..... ro.t-..... \et-.... eou.. ...... bcurouJ .. 

ffiOf\~ W'\IW\e,;~U:R.d\L ccud.l\~VC\Yltclf3e IS t1:l.CU 
... \L ..... \ .. ~ ....... 01.\ ...... WY\CYl.e.dLC..:t..e ..... ~ent ..... bo.wev.er: .... \.b ... Q.(\.lt1···················· 

...... l.f:bS .... tpl)..-..... Sp.end .... ~me ..... r-conecJ·····t:ho..L ...... \5: .... \.n ...... tP·u..r. ....................... . 
.. a.cc..o.unt .... X ............................................................................................................................................................................ . 
........................ ............................................. ............... ······ ...................................... ······ ................................................ ············ 

............................. ... ...... ............................... . ...... ............ ...... .. ..................... . ···································· ·········································· 

..................... . .................. .... ............... . ............. .. ............ .................... . .. .. ..... ................................... .... . .. ........ ....... .. . ... . 
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Sticky Note
The candidate again shows some knowledge of the methods of payment and does make some valid points.  For the most part, however, the response is from the wrong perspective.


Sticky Note
A number of candidate responses did not answer the question set.
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	 (h)	 Ink Inc. is considering installing a computerised accounting system to assist in its 
completion and management of documents used in the buying and selling of goods and 
services. Explain two advantages to Ink Inc. of installing this type of system.	 [4]

© WJEC CBAC Ltd.
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(h) Ink Inc. is considering installing a computerised accounting system to assist in its 
completion and management of documents used in the buying and selling of goods and 
services. Explain two advantages to Ink Inc. of installing this type of system. [4] 

•• ~;,~····~······=~~~~··th~ ····-~-~---·········-~CG.t.U~ ........ ~ .. ~.t.'v..\\f'BJ ...... ~~~---·····~-~---··········· 
··tJ-f.>········-~·-············~~\,Q,£l·····OJ.\Q. ...... (k ....... ~.-~.c:.uJ~s:.S. ......... . 
..... ~ ........ {Y.Q .. ~---·······~·-·······~-cr.u ..... \.·~ ....... l~ ....... 0.l.&a ....... lYl~ ............... . 
.. p.ffi~ee.~..t.O.C\~ .. ( .... ~ .... ~.~ ... ~~-~ ...... 1k~ ............... .. 

~~~~~ ~~~~~~~~ 

© WJEC CBAC ltd. (4702-01) 

Exam 
on I: 

Sticky Note
This question required an explanation of two advantages of using a computerised accounting system.


Sticky Note
The candidates scored the two marks on offer for the first point and explanation.  A mark was given for the second advantage but the explanation was deemed insufficient for a mark as documents can be typed without being computerised.






Sticky Note
The candidate gained two marks for stating two advantages with no marks given for the explanations, as none were offered.



Sticky Note
This question required an explanation of two advantages of using a computerised accounting system.
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(h) Ink Inc. is considering installing a computerised accounting system to assist in its 
completion and management of documents used in the buying and selling of goods and 
services. Explain two advantages to Ink Inc. of installing this type of system. [4] 

" .. 0.\)e ...... od\lQ.n:~ ..... :t.O .... \.O.h .... .\.OC ....... O~ .. \.D~ ... O.. ........................ . 

. Corofu..Le.L'.\:S.ed .... occo.u.o:t\.O.C\ ..... s(. "5)::,~ .... .\4:5 ...... l:X\o....:L ...... \:L ............. . 
f1 v """'D ' 

. ;y
1

· .. .\.S ........ O.U.\.c.h:e£ ....... ~ v:_r\ ..... ~.e.c ...... lli.o....n ..... ~n l • ...... comx·--·'~1 ... · . 

Examiner 
only 

If'_()'-' ·-,..:.; ::~:.~:~.:1~:.:.:.:.:.::.::1-.~ .•• u .. ~ . .~ '-· .. -~ ·"-"·~ 't-' 

1\ J tnese c\oc..ume.Dt.o ~ nG.J\d . Anothfcfo"Odvt:Lnt::~e J 
.. 1.-s ...... tl:\a:.L ...... I.:t ...... ~ ........ me ...... bu:c;:Jflf'o:;:,.moc~~~ · .. r10.L 
... OJ\.c\ ........ :¥-u.eJ1t ...... b.~~.e ....... docu..m.en.ts .... ~ ....... eo .•..... · .' -
...... b(J········CG.oo~.LLt:£C ......... Qf~ ....... f.Y\O:Ce ....... eo:r.~.v.e. ....................................... . 

© WJEC CBAC Ltd. (4702·01) 

Sticky Note
No marks were awarded for the first point made - “quicker and easier”. To earn a mark the candidate needs to state how the computerised system makes it so.  A mark was given for the second advantage, but the explanation that documents would be more “effective” was deemed insufficient for the additional mark.


Sticky Note
This question required an explanation of two advantages of using a computerised accounting system.
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(e) (i) Credit Note No. CR741 recorded as Sales Invoice. (1) 
(ii) Corrected Balance £675.20 (1) 
(iii) Customer would be charged to much (1) and so could take the custom 


elsewhere (1) 
Any valid consequence and explanation. Total of 4 marks 
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(g) Cheque 
Easy way for businesses to pay, it is a traditional method. (1) 
But cheques may bounce/they take time to clear (1) 


Cash 
Immediate payment(1) 
But have to take money to bank - inconvenient (1) 


Debit Card 
Will know if payee has funds available before completing the transaction (1) 
But will incur cost of card reader (1) 


Any valid points 
Must consider all 3 methods of payment Total of 6 marks 
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(h) Advantages 
Produced quicker because calculations will be performed automatically and 
fewer mistakes are likely to be made. 
Documents will look more professional making a better impression on 
customers. 
Documents can easily be duplicated without having to rewrite. 
Documents can easily be corrected at a later date without a total rewrite. 
Any valid point. 


2 points 1+1 Total of 4 marks 
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